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to be analytic in :;; domain. Hence, show that J(z) =log z is analytic in its
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A person requires 24, 24 and 20 units of chemicals A, B and C respectively for
his garden. Product P contains 2, 4 and 1 units of chemicals A, B and C
respectively per jar and product Q contains 2, 1 and 5 units of chemicals A,
B and C respectively per jar. If a jar of P costs ¥ 30 and a jar of Q costs ® S0,
then how many jars of each should be purchased in order to minimize the cost

and meet the requirements? 10
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Prove that a non-commutative group of order 2p, where p is an odd prime,
must have a subgroup of order p. 15
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Solve the following linear programming prc;ié;lem by Big M method :
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Is the optimal solution unique? Justify your answer.
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Reduce the partial differential equation
g — x .
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Compute a root of the equation log;o(2x +1) = x= +2 =%
Regula-Falsi method, correct to 6 decimal places.
- S =i : 2 2 y=-20y w=0
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Determine under what conditions the velocity field u =e(x? =y ) Vs 20Xy,
w =0 is a solution to the Navier-Stokes momentum equations. Assuming that
the conditions are met, determine the resulting pressure distribution, when 2
i8 up and the external body forces are B, =0 =By, B =-g 20
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